mean # PXL hits vs eta |

<pixel hits>
|
N N
[P0

o
o
[

0.6

0.4

0.2~

T

Ratio

| mean # PXL Layers with measurement vs eta |

<pixel layers>

Ratio

=
I

=
N

0.8

0.6

0.2

: =

0.4

0.5

|1©
T T T

mean # STRIP hits V|

—e— DQM_V0001_R000000001__Global__C

—=— DQM_V0001_R000000001__Global _mkFitbase RECO
MSSW_X_Y_Z_RECO

<strip hits>

.....................................................................

Ratio

<strip layers>

Ratio

o
[

O s N W b g o ~N 0 O
T

1O
T T T




	Contents
	Page 1


